Time aliowed: 2:40 Hours

MATHEMATICS SSC-i

Science Group

Total Marks Sections B and C: 60

G. 2 Solve the following Questions.

SECTION ~ B {Marks 36)
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0 Reduce the equation 5x —-§+6=0Io quadratic farm Find the value of p, if reots a, £ of an equation
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(i} | (x+i)and (x-1}are the faciors of Solve the radical equa;i'on Nr—3+5=x
* +3px +ge-1, use synthetic division to find the BT L0 O PR RN N A
values of pand g. 14 OR 1nd
sl (x+1) :FF;{)’[‘}V ffd’q mp e Jn Ll “.';rg,{-'r}
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(iii} x° +y 47 %z
lf~=—-- , then show that ———— =" iy o
gl oW ¥ I L U={1,23,....,10}, 4={2,3,57} and
_x’s+y: + 53 BB ek Y2 B={1,3,5.7.9} then verify that (AN B) =(L' UB’)
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7 B={13,579} m 4={23,57}, U ={1,2,3,....,10} Ji
(A™B) = (4 UB) Sk
v i e ;
]| N SR -, . If 4={12,3.4) and B={2,3,5,7} then find Ax 5 and
(x— 1]("* ) a relation Rn{{x,y)l;ceA,yeBny«:x}
341 OR - . 1xd
Lozl —“—-(x et WS Ax B B35} s A={l234}
-LL',)?JL"R-—.{(x,y)|xEA,yEBAy<x}
v = 56,7}, B=
W [ 4={12.24.56.7), & = {2,468} and i terminal ray of g is in first quadrant and sin€=-3-
€ ={1,4,7,8} then verify that . 4
A(BUC)=(4UB)UC - i then find the remaining trigonometric ratios of 2 : -
FC={,47,8 2 B={2,4,68), A=(1,2,3,4,567) /] o BeF Giin s e masing =2 S
AU(BUC)=(AUB)UC Sy St =4
{vl) iFind Arithmetic Mean from the following grouped
data. 20
Class ; Resolve ————— into pariial fractions.
Intervals | 1-9| 10-18]| 19-27 | 28-36 | 3745 (x-3)(*+1)
= (L1 [Rer—.A—
I;Argqumcy 8 g 1 2 2 o6 (x— 3)(x2+1]
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{vii} |Prove that perpendicular fram the cenlre of a circle Calculate length of a chord
on a chord bisects it. AR that stands at a distance
-q...IF'):.L_"'“JJ'r)f&}{&f/ﬁh;l}lﬂ_}:&:”‘ 6om from the centre of a
circle O with radius 10zm .
1x4 OR ixd
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of a cirele at its outer end point, it is tangent to the
circle at that point. Prove i,
B o B alde g i (s B s S S e

a line is drawn perpendicular to a radial segment

_e B Ao ail L

4B=12cm is a chord of
circle having radius
Od =08 =8cm with centre O,
fFind radius OM of the circle
concentric with the first circle

passing through mid-point
1x4 | OR| Mof 4B ) 1x4
{a}!;(},,g_;.f/&’u;}‘u)f/[‘?.—,c}
7 ol OA=0B=Bcm b
duat AB 7 A +]§=12{:m
Fa il {luﬁl I e M B 4 270
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{ix) in triangle AdBC  mBC =6em, mAC =3em  and Draw a circle that touches both arms of an angle of
= = = 60° .
mBd=4cm. Calculate projection length xof 4Con ;
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29 MBC = bem, mAC =3om L OAABC A
.J“x"r}”'JPJ?::: AC : BA E* It mBA = dom
SECTION — C (Marks 24)
Note: Soive thefsllowing Questions. (3x8=24) ..Q/ L iy
Q.3 |Using the Compenendo-Dividendo Tﬁeorem, ! Determing variance and standard deviation from
Y+ 7a x+7ET . tdab the following frequency of distribution.
pebiE Lk x~7é+x—7b“2 lfx:LTj,' x| 10] 20| 20/ 40| 80| 80| 70
) & 5 a4a |OR| [f | 1} 2| a3} a| 4| 21 1] |44
g 0 Sy ekt n S e P JPs o e . — e
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x+Ta x+7b
T ASLR
x-7a_ x-7b
Q.4 | Fing height of a tree if its shadow decreases by if two ares of a circle (or of congruent circles) are
10m when the depression angle of sun rays congruent, then the cormresponding chords are
o - equal. Prove it.
changes from 30°to 45 aiid OR q. : ) ! Wid
KoduFe fon 45° Lot 30° ﬂ‘,f.n'):sl}i’u_-‘f Sty efus S T S sl P S S ek
AT Sat ea blen F10L Lt g
Q.5 | The measure of a centrat angle of minor arc of a Circumscribe a sgquare about a circle of radiug
circle is double that of the angle subtended by the sem and write down the construction steps.
com'aspondmg major arc. Pr:fve |} o e :,J d""rf AL it Lol p AL S s
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